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Give an equation in point-slope form that satisfies the given information.
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Give the slope of each of the following lines. Nama a pmrﬂ' on each-ine.
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Determine the slope of the lines Parallel and Perpendicalar to the following functions.
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Write the peint slope form of the equéﬁoﬂ of the line through the given point with the given
slope.
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) through: (3, -3), slope = - % 6) through: (4, 5), slope=1
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7) through: (5, —4), slope = —g 8) through: (-5, 4), slope = —i—
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Determine 2 point and the slope of the following linear functions.
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Sketch the graph of each line.
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